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g HUWCJI3JIANH 3ACAT TAPTBIH IDPTI/IX
©] BUENHTAMHP CIIOPTBIH XOPOOHBI
- JIAPTBIH TYIHAAJI
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200 / onbI ?d‘;‘raap Nyraap 9—2 VaaanGaatap Xor
~ capuﬂz j enep

YH 5cHU CYDHH THMIISSH
AByyRax wyxai.

TYTAAX Hb:

Hor. Ynaanbantap xoTHH 2001 OHH YHISCHUTT CYpHH HacaHT
" Xyporunuiid aBapra manrapyynax ToMIssHEAT 2001 OHH 6-p CapHH
\ O-10-uH empYYmsn YHiscHuft CypHH OafipaHn aByyapyrai.

Yo8p. ToMmupsuuft TecBUiT HATIOYI'S3p, MYYTIRuiH OYpSAIsX-
YYHE#T XO8pIyraap xaBcpajTaap TYC Tyc Oarancyrai,

TypaB. To:wasHnit marHany 3opuynad 45000 Terpermir
| ’ CIIOPTHH apra XsMxssHu#t sapmpraac rapraxer H-00 7.lsmsHCOMHOM-
I 30BUSOPCYIoit.

TlepeB. TowimasH fiT Y331 CcypTan 30XUOH OaiFyynanTHH
OHIIep XD!UI9DHI ABYYNaXHT opTaxunTsH C.IYposBrgpxum yypsr
donrocyrat.
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- gﬁ 77 TaMip CTOPTHH XOPOOHH NAPTHH
1 200% buy 42 roor TymaamsH I-p

© ! aBoppnT.

45y

Har. TomrasHu#t maruan
a/ TayipYEHH marHan

I-p Gaip 7 x 6000 Ter = 42000 Ter
2-p Gai'p 7 x 5000 Ter = R5000 Ter
3~p 6a’p 7 x 4000 Ter = 28000 Ter

Il

6yrm = I05000 Ter

6/ Mvyrumnin mardan

I0 x 2 X 2000 mer = 40000 Ter

Huoflr my H = I45000 Ter
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